(p+bar{p})/(pi" + pi)

Ratio to LHCB

o
&

0.4

0.3

0.2

0.1

0.5

 m LHCB
--3-- Herwig 7.1.4 default
----- ¢ Sherpa 1.3.1 default

7000 GeV pp Soft QCD
T r ot r ottt e T
B (p+p)/(TT+17) Vs |y| (pT > 1.2 GeV) 7

B .‘ ................................... a :
T RSP a -
- [----------------- q----"" -
e PR PR HRRPU RO RO (NNPURNY SENPU TU ANPUY NP NN AU N SRR SRR NN SRR B Y R
LA o e e e L O M =
N @ @ i X N
- P a :
- NSRS ]
g-------
L o o o |
2.5 3 35 . e

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


